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Solve the following initial value problems.
a. y'—4y'+3y=10cosx, y(0)=1, y'(0)=-1;

b. (*D*+xD-Dy=16x", y(1)=-1, y()=1

_ (30%)
Find the inverse Laplace transform of the following functions '
ssinf+wcosé b 3s
P C 72542
(10%)
Evaluate the following integral by the divergence theorem.
F=[ax by cz], S the sphere x*+3°+2z° =36
(15%)

Is the given matrix Hermitian? Skew-Hermitian? Unitary? Find its eigenvalues

and eigenvectorsx.
L2
iv2 %
(15%)

Find (a) the Fourier cosine series, (b) the Fourier sine series of the following

function
f(x)=sinx, O<x<rm .
(15%)
Solve for u=u(x,y):
u, +u, =0, u0,y)=,), =»0,)=g>)
- (15%)
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